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%M.A tangent to a circle is perpendicular to the radius through the point of
act.
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#THEOREM ( Proof ) : Lengths of tangent drawn from exterior points on the
circle are equal .
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#LP : ABC is an isosceles triangle in which{AB = AC ) circumscribed about a

circle , as shown in fig. Prove that the base i3 BiSected by the point of contact.
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#LP : A circle is touching the side BC of triangle ABC at P and touching AB and
AC produced at Q and R respectively . Prove that AQ =1/2 ( Perimeter of

triangle ABC)
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#LP : A circle touches all the four sides of a quadrilateral ABCD . Prove that :
AB + CD = BC + DA.
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#LP : Prove that opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle .
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#LP : If all the sides of a parallelogram touch a circle , show that the

parallelogram is a rhomb X1
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#LP : If two tangents inclined at 60° are drawn to circle of radius 3 cm , then
find length of each tangent.







